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TIRUVALLUR DISTRICT

FIRST REVISION TEST - 2025

Standard X Reg.No.
| MATHEMATICS
Time : 3.00 hrs Part- A Marks : 100
I Choose the correct answer: 14x1=14

1

. If there are 1024 relations froma setA {1234 5} to a set B, then the number of

elements in B is

a3 b2 c) 4 d)8
. If{(a, 8), (6, b)} represents an identity function, then the value of a and b are repectively
@6 o bHEs . 068 9 (68)
The HCF of numbers of the form 2™ and 3" is : '
a)2 b) 3 c) 1 gy, W
The value of (13 +23+3%+..#15%-(1 + 2+ 3 +..15)is .
a) 14400 A - b)14200
€)14280 d) 14520

10.

s

Which of the following should be added to make x4+64 a perfect square "
a) 4x2 b) 16x2 )8d . d)-8x2 .

IfAis 2 x 3 matrix and B is'3x4 matrix, how many columns does AB have’P
a)3 . b)4 - : mz A Rlye
. Two poles of helghts 6 mand 11 m stand vertically on a plane ground. If the dlstance

between thetr feet is 12 M, What is the distance between their tops ?

a)13m byt4m ~  ©)15m “d)128m
Af AABC is an isosceles triangle with £C=90° and AC = 5cm, then AB is
a)25cm b) § cm - ¢)y10oecm - d) 5J§ cm
. The stra:ght line given by the equatlon X=11
a) parallel to X axis . ) . b) parallel to Y axis - i
) passes through the origin- - d) passes through the point (0, 11)

If two non-vertucat lines are perpendlcular If and only if
a)m,=m, b) m, =m, cgmm,=-1  d)ymm,= 3

If the ratio of the height of a tower and the length of its shadow is J_ 1 then the angle '

of elevation of the sun has measure

45" BT gy 008 L d)60°"‘

). 4
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2 i X Maths
12. The height of a right circular cone Whose radius is 5 cm and slant height is 13 cm will
be | ,
a) 12 cm b) 10 cm c) 13 cm - d)5em ‘
13. The ratio of the volumes of a cylinder, a cone and a sphere, if each has the same
diameter and same heightis .
a)1:2:3 - b)2:13 , c)132 VRIS )i
- 14..1f the mean and coefficient vanatlon of ; a data are 4 and 87.5%, then the standard
- deviation is L i \
- a)35 b) 3. B i e
' Part B ' ‘

II.‘ Answer any 10 questions. (Q.No.28 is compulsory)
15. IfFAXB={(3,2) (3, 4)(5,2) (54)} then find Aand B

16. Find k if fof(k) = 5 where f(k) = 2k - 1

17. 1f13824 = 23 X 3b, then find ‘a’ and ‘b'.

18. Find the 8 term of the GP 9, 3, £

10x2=20 .

y <z’

100 x8y z

20. Determlne the nature of roots for the followmg quadratic equation 15x2 +11x + 2= D

21. In AABC, D and E are point on the sides AB and AC respectively. Show that DE || BC.
IfAB =12 cm, AD =8 cm, AE = 12cm and AC = 18cm. '

22.- A man goes 18 m due east and then 24 m due north. Fmd the d|stance of his current
position from the startmg pomt? '

; 400 x4 1216
19. Find the square root of the: followmg expressnon s B A

'23. Find the equation of a straight Ime whlch has slope /.' and passing though the pomt
(-1,2).
24. Show that the st - lines 2x + 3y -8 = 0 and 4x + 6y + 18 = 0 are parallel,
25. A player sitting on the top of a tower of height 20 m observes the angle of depressuon

of a ball laying on the ground as 60°. Find the distance between the foot of the tower
~ andthe ball. (3 =1.732) ‘

26. Find the volume of a cyllnder whose height' is 2 m and whose base area is' 250 m2.

2. Adie is rolled and a coin is tossed simultaneously. Find the probability that the dle
shows an odd number and the coin shows a head.

[5 -4
28. If A=[6 _5]. Showthat A2=]

- X

Kindly Send Me Your Key Ag‘swer‘tg Our email ,vif_d: APa_des_a'Igi._n_et@gmail.com s

A e e v |


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalal.Net

.
29. Let A={3,4,7,8 hand B = {1,7,10} , which of the following sets are relation from A to B7

30.

www.Trb Tnpsc.Com

3 X Maths

Part-C
Answer any 10 questions. (Q.No.42 is compulsory) 10x5=50
) Ry={3.7), (47), (7.10), 8,1)}
i) Ry ={(3,1), (4,12)}
ii) Ry ={(3,7),(4,10),(7,7),(7,8),(8, 11).(8,7),(8,10)}
A ={1,2,3,4} and B = {2,5,8,11,14} be two. sets. f: A — B be a function’ gnven by
f(x) = 3x -1, Represent this function-
i) by arrow diagram '

~ i) inatable form

iii) as a set of ordered pair

.iv) In'agraphical form.
The sum of first n, 2n and 3n terms of an A P are S1, Sz and S; respectrvely Prove

31,

- that §;=3(S,-S,)

SR

33.

Rekha has 15 square colour papers of sizes 10 cm, 11 cm, 12 cm,. .24 cm. How
much area can be decorated with these colour papers? 5 ‘
Find the values of m and n if the following. ponnomraI is perfect square.

36x4 — 60x3 + 61x2—mx +n
If the roots of the equatron X2 + 6x 4=0are a, B Flnd the quadratlc equatlon whose

.. roots are

35.
36.

37.

3.

39.

) a?andp?’.
i) a2p and 2

5. State and prove Thales Theorem (Basnc Proportronahty Theorem ).

Without using Pythagoras theorem, show that the pomts (1 -4) (2 =3) and (4 -7)

forma right angled triangle.
A(=3, 0), B(10, =2) and C(12, 3) are the vertlces of AABC. Find the equatlon of the

altitude through A and B.,

From the top of a lrghthouse the angle of depressnon of two ships on the opposrte 3

sides of itare observed to be 30° and 60° If the height of the lighthouse is h meters and
the line joining the ships passess: through the foot of the lighthouse, show that the

4h
distance between the ships is ‘/—- m.

A right circular cylindrical container of base radius 6 cm and helght 15 cm is full of ice

cream. The ice cream is to be filled in cones of height 9cm and base radius 3cm,
having a hemtsphencal cap. Find the number of cones needed to empty the contamer

.

:

\\\\\\\\
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40. Ahollow metallic cylinder whose exteral radius is 4.3 cm and internal radius is 1 -
8nd whole length is 4 cm is melted and recast into a solid cylinder of 12 cm long. Find
the diameter of a solid cylinder.

Two unbiased dice are rolled once. Find the probability of getting
i) aboublet (equal numbers on both dice) .
ii) the product as a Primeé number
iii) the sum as a prime number
iv) the sum as 1

42. Find the value of k; if the area of a quadrilateral is 28 sq.units, whose vertices taken in
order (-4 -2), (=3, k), (3, —2)&(2 3) .

Part -D '
IV. Answer all the questions. : 2x8=16
43. |

41,

a) Discuss the nature of the roots of the grven quadratic equation X2 - 8X + 16 =0 by
using graph.

(OR)
b) 'ATwo wheeler parklng zone near bus stand charges as below.

Tme(n ) | 41 8 |12 [22

Amount3 () | 60 | 120 | 180 | 360

Check if the amount charged are in direct vanatlon or in inverse vanatron to the |

parking time. Graph the data. Also

i) " Find the amount to be paid when parkrng time i |s 6 hrs.

Ly ii) ~ Find the parking duration when the amount Paid i |s ?150 _

44. a)" "Construct AABC of base BC=8.cm, ZA=60°and the angle brsector of ZA meets

- BC at D Such that BD=6cm.
. - (OR)

...'b) Takea pomt which is 11 cm away from the center of a circle of radius 4 cm and
' draw the two tangents to the circle from that point,

*******
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